Trigonometry Test 4 Practice

Chapter 5, sections 1 and 3; chapter 6, sections 1 and 2.
NON-CALCULATOR PORTION

*** 5 Questions ***

Find four solutions to each of the following, write your answer in radians:

ouhkwnNnE

Find the value of each of the following:

7.
8.
9.

10.
11.
12.

13.

Find four solutions of each equation.
14.
15.
16.
17.
18.
19.
20.
21.

Find the exact value of the remaining trig functions.
22.

sin"1(-1)
sin”10
sin"11
cos1(-1)
cos™10
cos™11

. —3m
sin (—)
2
sinm
. (311')
sin(—

2
cos(—2m)
cosO
COSTT

CoOS\—
2

sin(Bx +2) =-1
sin(Bx+2)=0
sinBx+2)=1
cos(mx +5) =-1
cos(mx+5)=0
cos(mx+5)=1
6sin(2x)+9=3
6cos(2x) —9= -3

-4 )
cosx = — and sinx > 0

CALCULATOR PORTION
***% Q9 Questions ***

Find two solutions for each equation.
23.
24,
25.
26.
27.
28.

sinx = 0.55

cosx = 0.55
3cos(5x) = -2
3sin(5x) = -2
S5sin(mx+5)+6=7
S5cos(mx+5)+6=7
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Trigonometry Test 4 Practice

Applications.

29.  The current a point in an electric circuit is C(t) = 20sin(30mrt) for 0 < t. Find the
first time when the current is 15.

30. Suppose that a ladder that is 12 feet long leans against a house and the base of
the ladder is 4 feet from the wall. What angle does the ladder make with the
ground? Give the answer rounded to the nearest degree.

31. A ramp to provide wheelchair access to a building is 20 feet long and it rises up
to a doorway that is 2 feet above the ground. What angle does the ramp make
with the ground? Give the answer rounded to the nearest degree.

32. A boat leaves a dock and travels 6 miles due east of the dock and then turns and
travels 3 miles north. A boat captain wants to tell a friend at the dock how to
travel directly to the boat. How far is the boat from the dock and what angle does
the direct line from the dock to the boat make with the east direction?

33.  The line with the equation y = 5x makes what angle with the positive x-axis?

34.  The line with the equation y = —3x makes what angle with the positive x-axis?

35. Draw a right triangle and label the sides so that sin(8) = % What is the exact
value of the angle 8? What is the cos(8)?

36. What angle with the positive x-axis does the line from the origin to the point (3,5)
make? Give the exact value and the decimal approximation rounded to two
decimal places.

37.  What angle with the positive x-axis does the line from the origin to the point
(—2,7) make? Give the exact value and the decimal approximation rounded to
two decimal places.

38.  Find the measure in decimal degrees of a central angle subtended by a chord of
length 112 ft in a circle of radius 72.8 ft.

39. Find the perimeter (to the nearest centimeter) of a regular heptagon (seven-sided

figure) inscribed in a circle with radius 5 cm.

Solve the following triangles. Round answers to two decimal places.

40.
41.
42.
43.
44.
45.

x=58° y=12°% anda =10cm
x=26° a=41m,and b =6.7m
= 48° a =36,and c =47
a=14.6, b = 28.1,and c = 19.4
a=7m, b=24m,andc =25m
a=27, b=61and c = 49
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Trigonometry Test 4 Practice

Answers:
1. ‘_5”, ‘_’T, 3_”, m
2 2 2 2
2. 0, m 2m, 3
3, It 3mom sm
2 2 727 2
4, —3m,—m, M, 31
5, %t -momo3m
2 2 2 2
6. —2m, 0,2m, 4
7. 1
8. 0
9. -1
10. 1
11. 1
12. -1
13. 0
14 x_—_S”_E,x:—_”_EIxZE_E,x:L”_E
6 3 6 3 2 3 6 3
15 X__—z, =n—_2, =E,X=T[—z
3 3 3 3
16, y=llT_ 2, ,_-m 2z, _m 2. st 2
6 3 2 3 6 3 6 3
17 x=-3-3,x=-1-2x=1-2x=3-2
T T T
18 x___3_5, ___1_5’ =1—E,x=§—£
2 T 2 2 T 2 T
19, x=-2-x=-32x=2-2x=4-2
T T
20, x=_2f £ 3 Im
4 4 4 4
21. x=-m0,m 27
) V65 -V/65 965 -9 —4+/65
22. sinx =—,tanx = ——,cscx = —,secx = —,cotx =
9 4 65 4 65
23. x; =0.5824, x, = 2.5592
24. x, =0.9884, x, = 5.2948
25. x, =0.4602, x, =0.7964
26. x; =—0.146, x, = —0.4824
27. x, =-—1.528, x, = —0.655
28. x; =-1.156, x, = —0.027
29. x = 0.009

Page 3 0of 4



Trigonometry Test 4 Practice

30.
31.
32.
33.
34.

35.
36.
37.

38.
39.

40.
41.

42.

43.

44.
45.

6 =71°
0 = 6°
6 = 27°
6 =79°
6 =108°

0 = sin‘l(

(
(

V33
,cos @ =

N

0 =tan"!(2),6 = 59.04°

| Wl

0 = tan~! (=
2
100.57°

30 cm

p =110° b=11.08cm, ¢ = 2.45cm
p = 45.75° y =108.25°, ¢ =8.88m
B’ =134.25° y' =19.75° ¢’ = 3.16m
y = 75.98° [ =56.02°, b = 40.17

y' = 104.02°, B’ =27.98° b' = 22.73
x= 29.08°, f =69.3°, y = 81.62°

x= 16.26°, f = 73.74°, y = 90°

x= 25.56°, f§ =102.9°, y = 51.54°

),9 — 105.95°
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